19

28

20

~

2000 5

23




20
1mg
3
12 21
7509
1,000 JCo
1986 4 26
137
1 Jkm?

100

/km?

100

10

JCO

137

3,000

300

250

1 /km?

14 km?
37 km?

40

10

/km?

/km?

800

50

1 /km?

600 km



70
180

BT L watl) : J
B 0% )~k i( :
B 15402 Y —
[5~15%a1)—
Bl -~5%a1)-

T

Y| FSTLER

137
10 /km?

1 /km?



kWh

50000

40000

30000

20000

10000

il

180

170

160

150

140

130

120

110

m

1970

1000

1980

10

1990

1955

2006)

e =AS—MATH
AR - RATH

RRETR

W,

2207~

F e— g

g

ﬂ
mgy R b mAF b

i
bSwusa S2h—T Suh—7 RHERT

IE 56D MER  11ESD
BEih LNG:x Hlkh aEXkn



70
100
kw

225

100

kW

m3

10

200

150

100

50

1000

300kg

G661

225




8kg

1970

1000

100

(8%)

1953

300kg

30



92 11 29
3000¢
60 2000¢
10001
400
100
'96/97
( ) [(
1945 3 10 3,000 3
1945 7 16 21,000 21
8 6 15,000 15
8 9 21,000 21
6,000,000 6,000 6
1954 3 1 1,700,000 1,700 1.
1961 10 30 50,000,000 50,000 50
(1985 ) 18,000,000,000| 18,000,000 | 18,000
(1993 ) 9,700,000,000| 9,700,000 | 9,700




